Diesen Arbeitsbogen gibt es in zwei Differen-
zierungsstufen, die an dem Schriftzug in der

oberen rechten Ecke zu erkennen sind.
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Is it right or wrong?
Right (v') or wrong (X)?

Lions

Giraffes

Parrots

have 4 legs.

v

v

X

can fly

lay eggs.

have a tail.

are tall.

can jump.

have 2 legs.

Complete the sentences.
1) Giraffes have 4 legs.

2) Frogs lay
3) Lions have a

4) Parrots can

are tall.

lay eggs.

have a tail.

© nina frank




Z00
Is it right or wrong?

Right (v') or wrong (X)?

Frogs Giraffes Parrots Snakes

have 4 legs. v v v X X

can fly

lay eggs.

can swim.

have a tail.

have a long neck.

are meat-eaters.

can jump.

can talk.

are plants-eaters

have 2 legs.

Write 5 sentences.

Example:_Giraffes have 4 legs.
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Is it right or wrong?

Right (v') or wrong (X)?

A ¢
Lions Frogs Giraffes
have 4 legs. v v v X X
can fly X X X v X
lay eggs. X v X v v
have a tail. v X v vIX X
are tall. v X v X X
can jump. X v X v X
have 2 legs. X X X v X
Complete the sentences.
1) Giraffes have 4 legs.
2) Frogs lay___eggs.
3) Lions have a tail
4) Parrots can ____ fly /jump .
5) __Frogs / Parrots / Sankeslay eggs.

6) __Lions / Giraffes / Parrotshave a tail.

7) __Lions / Giraffes  are tall.
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Is it right or wrong?

Right (v') or wrong (X)?

Z00

Giraffes

have 4 legs.

can fly

lay eggs.

can swim.

have a tail.

have a long neck.

are meat-eaters.

can jump.

can talk.

are plants-eaters

XXX X X KK[XX S

have 2 legs.

XXX SNX X SN XS

XN XIX[X S KX X XS

X XXX <X XSS XX

Write 5 sentences.

Example:_Giraffes have 4 legs.

© nina frank




